9.7 Midpoint Formula and Perpendicular Bisector Equation.notebook April 08, 2019

DO NOW

Square ABCD has vertices A(-2,-3), B(4,-1),

('(2,5), and D(—4,3). What is the length of a side
of the square?
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To find the midpoint of a line segment AB with
A(X4, Y1) and B(x», y») use the formula:
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If two line segments have thesame midpoint,
then they bisect each other
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1) Find the midpoint of AB with A(-2, 2) and B(6, -4)
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2) Find the midpoint of PQ with P(4, -2) and Q(-2, -7)
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3) Given M is the midpoint of AB. The coordinates of
A are (-3,10) and the coordinates of M are (1, 6).
Find the coordinates of B.
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4) Write the equation of the/perpendicular bisectoryof
the line segment whose endpoints are E(-3,2) and
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5) Given D (-8,-8), E (-3,4), F (1,-2), G (6,10)
Prove DG and EF bisect each other
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